This report contains the transfers results.

Contest Name Valid Votes Positions to be Filled Quota

Ward 12 - Rutherglen Central and North

5,076

3

1,270

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Gloria ADEBO	Scottish Liberal Democrats	517
Janine CALIKES	Scottish National Party (SNP)	1,188
Andrea COWAN	Scottish National Party (SNP)	725
Libby FOX	Scottish Conservative and Unionist	609
Martin Patrick LENNON	Scottish Labour Party	1,245
Jack David MCGINTY	Scottish Labour Party	531
Alex MCRAE	Scottish Greens - Think Global Act Local	261
	Tota	J 5,076

This report contains the transfers results.

Stage 2 - Exclusion of Alex MCRAE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gloria ADEBO	27	1.00000	27.00000
Transfer to Janine CALIKES	77	1.00000	77.00000
Transfer to Andrea COWAN	71	1.00000	71.00000
Transfer to Libby FOX	3	1.00000	3.00000
Transfer to Martin Patrick LENNON	25	1.00000	25.00000
Transfer to Jack David MCGINTY	36	1.00000	36.00000
No further preference	22	1.00000	22.00000
Not transferred due to rounding			0.00000
	Total		261.00000

This report contains the transfers results.

Stage 3 - Exclusion of Gloria ADEBO

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Janine CALIKES	73	1.00000	73.00000
Transfer to Andrea COWAN	44	1.00000	44.00000
Transfer to Libby FOX	118	1.00000	118.00000
Transfer to Jack David MCGINTY	149	1.00000	149.00000
No further preference	160	1.00000	160.00000
Not transferred due to rounding			0.00000
	Total		544.00000

This report contains the transfers results.

Stage 4 - Surplus of Janine CALIKES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea COWAN	1,172	0.05082	59.56104
Transfer to Jack David MCGINTY	37	0.05082	1.88034
No further preference	121	0.05082	6.14922
Not transferred due to rounding			0.00284
	Total		68.00000

This report contains the transfers results.

Stage 5 - Exclusion of Jack David MCGINTY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea COWAN	129	1.00000	129.00000
Transfer to Libby FOX	151	1.00000	151.00000
Transfer to Andrea COWAN	13	0.05082	0.66066
Transfer to Libby FOX	1	0.05082	0.05082
No further preference	436	1.00000	436.00000
No further preference	23	0.05082	1.16886
Not transferred due to rounding			0.00000
	Total		717.88034

This report contains the transfers results.

Stage 6 - Exclusion of Libby FOX

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea COWAN	134	1.00000	134.00000
Transfer to Andrea COWAN	1	0.05082	0.05082
No further preference	747	1.00000	747.00000
No further preference	8	0.05082	0.40656
Not transferred due to rounding			0.00000
	Total		881.45738